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01 =L OdHI 2,088 1,566 522
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01 AR 2teld| 2,000 0 2,000
OFAEESHHEH St EE2E 5002 *4,0005 2,000
307 2I2tol A 7,600 13,000 A5,400
J| 2,800
Al 4,800
10 At3I =S X2 X 7,600 0 7,600
O3S addAd Z208 29 A& 7,600
—HAELED D2 2o
3,600,000 =14 3,600
| 1,800
Al 1,800
—HAEBSHEH Z203 29
4,000,000 =14 4,000
J| 1,000
Al 3,000
HdLESEAE 22 .83 432,000 350,000 82,000
& 360,000
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A IHE=X10

HH: HAW 25 54
ool AW 2SI (Sl #)
_ _ _ Muo
SH-EH . C(BH) - NRAY - BES Off &F oA il b o bRz
A 72,000
401 Al & HI L2 THY| 432,000 350,000 82,000
z 360,000
Al 72,000
01 Al&Y| 432,000 0 432,000
OFAUSRR £AE SH(Z2IBA, A
AF) 432,000
— A& 432,000, 00021 %141 432,000
2 360,000
Al 72,000
HAU F0IIRE 29 3,000 3,000 0
| 1,500
Al 1,500
307 212H0| 3,000 3,000 0
o] 1,500
Al 1,500
CNEEEES 3,000 0 3,000
OFAUFARS 2 X
3,000,000% 17 2 3,000
o] 1,500
Al 1,500
AW $RAL X 123,596 126,796 £3,200
| 20,080
Al 103,516
HAULRAL 29 85 83,436 83,436 0
201 YEr2 Y| 8,436 8,436 0
02 22| 8,436 0 8,436
0ZZ23 % Al 2,460
—HAELEUY DERYRSS
1,600,000 * 15| %50% 800
—HAHSHHE DERLLLD
400, 00021 #1351 +50% 200
—HAELUB BAWLRYS
700, 00021 %25 1,400
—HAESSHE BAWELLS
30,0004 %23] 60
ON&ZH SN 5,976
—HAELUB AILEY S|
5,0002!+1,296 T *40% 2,592
—HAESSME AEBY SN
5,002 1,692 40% 3,384
307 2I12H0| 65,000 65,000 0
05 BIZtoIEr2 65,000 0 65,000
OBAURSNE 9IS 29
65,000,000 17 4 65,000
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SN

JHE =X

B AW 25 4
el EAdE EAE KA (9 E2
SMN-HHM .. AHA(SH) - MRAY - BES Aol a4 Hlw &2
- co=m s IR ° . (= (=3 =5 0:”/|l|,% Lsa
405 RtekFE S| 10,000 10,000 0
01 ML= E 10,000 0 10,000
OEAEESEH HIEZ+2  10,000,000& *13l 10,000
BAESEAE HAEX T AL X 38,160 39,360 A 1,200
| 19,080
Al 19,080
307 2I2tol A 38,160 39,360 A 1,200
J| 19,080
Al 19,080
10 At2I X E 38,160 0 38,160
OEL2ESHANE XA XA
1,590,000 * 1H 204 A %123 38,160
| 19,080
Al 19,080
FAEANE 234 2,000 4,000 A2,000
J| 1,000
Al 1,000
307 2Iz2tol A 2,000 4,000 A2,000
J| 1,000
Al 1,000
10 Af2I =S XIE 2,000 0 2,000
O&EAE= 2IAA3 K&
2,000, 0002 104 2 2,000
Il 1,000
Al 1,000
HAETAHE 2 142,400 130,000 12,400
| 39,200
= 19,200
Al 84,000
dad SEXNE 78,400 80,000 A 1,600
J| 39,200
Al 39,200
201 B2 FH| 13,200 14,800 A 1,600
J| 6,600
Al 6,600
01 AR 2teld| 8,700 0 8,700
(OF<ENSES 2835 ¢
200,000& *10& 2,000
J| 1,000
Al 1,000
(OF=EN=E= 2225 72
1,000& *1,200& 23] 2,400
| 1,200
Al 1,200
O&EAHEE MEEIII 2257
200,000& =102 2,000
| 1,000
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L IR =R D
L HAd 25 84
D HAENAME 29

SA BB .S (BH) - MBEAY - B2 Al ol gggf; Hm=2
Al 1,000
OBAUSHNBAY SsS HX HE
2,000& *5005 *23] 2,000
| 1,000
Al 1,000
OHAHSHNANY M2 DKH|
150,000 *23| 300
J| 150
Al 150
SHAL2 FH| 4,500 0 4,500
OHAHSHNUAAY DSAALY
100,000 *3% 33| 900
J| 450
Al 450
OXNEIRE 9 2HxH 70,000& x 152 x23| 2,100
J| 1,050
Al 1,050
ORIJI3AE NJATZ2 0 LA
100,000 x5 *33| 1,500
J| 750
Al 750
202 044 1,566 1,566 0
| 783
Al 783
01 2L I 1,566 0 1,566
OHAEHSEXNIHAHATRE R84 oyl
261,000 x2H x33| 1,566
J| 783
Al 783
utg A= 63,634 63,634 0
J| 31,817
Al 31,817
SHAIAHIEAZ2 6,304 0 6,304
OBAESSNANE X201 &I AR
261,000& x2H x23| 1,044
| 522
Al 522
OIS 4| 7,000 *60H *33| 1,260
J| 630
Al 630
OFAEHSE XA NS AL &S|
20,0003 *x10H 43| 800
| 400
Al 400
OFAESEXNBAIY NS AL 24 H|
7,000 *40H 23| 560
J| 280
Al 280
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SA: IR
MY HAW U5 |4
oot HAUTIRME 29 (B9 &2

SNBSS - MEAY - BES ]

22
J2
=2
Rl
12
==
S
Ol
0

r

2,640,000 13| 2,640
p] 1,320
Al 1,320
a3 57,330 0 57,330
OHAUXNHATEAY 2222
28,305,0002 *2% 56,610
| 28,305
Al 28,305
OfIIIEAHAZ XX | 720
=t 5,0002 *52 * 122 300
p] 150
Al 150
— 244l 7,0002 *52 * 122 420
| 210
Al 210

HFAYE & 64,000 50,000 14,000
19,200
44,800

= M

101 el A Hl 17,000 16,366 634

5,100
11,900

= H

03 RIHA2Z2XNE 4 17,000 0 17,000
OFALENEAMNE 4EEX

o

17,000, 000& «1H 17,000

5,100
11,900

= M

201 24 15,508 3,960 11,548

4,652
10,856

=z H

a]] 9,348 0 9,348
OFLEAEAMY M/ZAMA 2
3,500 *1,000& 3,500

1,050
2,450

=z H

OFAHAMEASE AR

0K

2 Pg(HAEY)
74,0002 23] 148

104
OFAEMNEAMNY Z208 NSNS
500,000 »2CH 2 2,000

600
1,400

=

OFAEMY R220=s 2I M M
3,000& 50001 <22l 3,000

900
2,100

=

O&EAIY oIME ZctZellH EHFE
350,000& »23] 700
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Ik
M HAW 85 R4
ool HAENRAE 29

_ _ _ Muo
SN B SRA(SIH) - MBAY - BAS Abod e HlnE2
< 210
Al 490
02 B2 5,160 0 5,160
OF2EAGAY 2 5,160
~H5E U MBILE 200,000 20128 4,800
= 1,440
Al 3,360
—e@E 30,0002 %128 360
= 108
Al 252
03 A2 bl 1,000 0 1,000
OBAUNIAY 0ISHSA 29
100,000 *103] 1,000
= 300
Al 700
202 048 2,340 502 1,818
= 702
Al 1,638
01 2U0i bl 2,340 0 2,340
OBAUNSAY 228 Ot
260, 00021 +1% %95 2,340
= 702
Al 1,638
301 YR AE 29,152 29,152 0
= 8,746
Al 20,406
10 BAAIHI 243 1,020 0 1,020
OBAUNSAY TRAZAX ESH
20,0002 #1024 *35] 600
= 180
Al 420
OBAUNSAY TIRASAX SA
7,00021 %308 *23] 420
= 126
Al 294
12 JIEtR A2 28, 132 0 28,132
OBAEMCAY SHRY 28,132,008 1% 28,132
= 8,440
Al 19,602
HZS YA (OIS D) 60,481 56,472 4,009
ol 2| 4,200 4,200 0
o=l 22| (OIE =KD 4,200 4,200 0
203 2R FZH| 4,200 4,200 0
04 HN2YHRFEY| 4,200 4,200 0
ORASgLRETY) 350,0002 128 4,200

_33_




SN

JHE =X

Y HE2YAH (OIE =X
&t D=3l (ctel: &
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
Jl=&Hl 56,281 52,272 4,009
JFE ST (123 H]) 56,281 52,272 4,009
201 get2dd| 21,292 18,066 3,226
01 A2 2 2ldl 18,652 15,426 3,226
Oget=&H| 9,584
—JISARESHI 100, 000& *17H 1,700
—S A4l 500,000& = 1CH 23 1,000
—diOIMEZ2HEH 237,000 »3CH =43 2,844
—=AD EE 7Y 330,000& *1CH*43] 1,320
—=SAD| EH F¥ 150, 000% * 1 CH *4 3| 600
—AYe|EY 110,000& *1CH =4 2] 440
—=SAMEX FE 20,0003 7 A+12& 1,680
OJI=dA2E3H| 150, 000& 23| 300
Ood=2Y 29 3 72 100,000& 10 2 +23] 200
o=l 8,568
—HE=XNZEEFL S20AI
7,000& x17H +63| 128 8,568
02 23244l 2,640 2,640 0
O33=2ZHl 2,640
—g=g &dlies 20,0003 x 10 A +123 240
—d2g &lies 20,0003 x50 A +12& 1,200
—d2Y 4ot=ER23 20,0003 *5I A+123 1,200
202 (44l 34,989 34,206 783
01 =2 A bl 34,989 34,206 783
O=UWH bl 34,989
—HE=X HRFL 2UHAL
20,0003 x17& «82] x 123 32,640
—8ot SXNAY 2 ¥ MR FHA 2
2| 04| 261,000& 3% x33| 2,349
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